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In this way, technology makes communication

In this wa )
y more convenient.

Indicating As a consequence, family members who are
consequences | As a consequence | away from home can communicate well with
Al Ol their loved ones.

Therefore, people can communicate more

Theref ; [
B quickly and conveniently.

However However, social media is time-consuming.

Indicating Whereas, the more quickly and conveniently

opposition | Whereas we communicate, the more likely it is that

9 dua jlaal) ol there will be misunderstandings.
<aduAY)

Despite Despite the recent advances in technology, it

is still unreliable and very inconvenient.

Therefore, people can communicate more quickly and conveniently.
The language function for the underlined word is

a) Expressing continuation.

b) Indicating opposition.

c) Indicating consequences.

d) Reporting information.
Despite the recent advances in technology, it is still unreliable and very inconvenient.
The language function for the underlined word is

a) Expressing continuation.

b) Indicating opposition.

c) Indicating consequences.

d) Reporting information.

(Despite) da lae Lo dlualdy auth Lganan Lol Cum LK) o3¢ Aasi yall o il Ladlad oLV ny Lin s @
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e However social media is time-consuming.

The suitable punctuation mark here is:

a)? b) : c), d)!

:(S.B P19) Ul i€ (3 31 gl el | ¥
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The aim of this report is to

Introduction

h This report examines
Aadial)

In this report ( ) will be examined.

There are more than ( ) well-equipped health centres in

(name of town)
Reporting
information Almost three quarters of the population are regular users of

e glrall agals

The number of (

It appears that
Conclusion PP (

YOMEN] This result in (

Recommendations | It is recommended that (
Gilua gl

The best course of action would be to (

a1 a5 bad) AT sl e by o Lt Jisedl 05Ss o (Sl e il s3a s 0
l adl & ) A8 gl e Jlsad) 05K O 5l eugita A
e The aim of this report is to discuss the effects of Corona Virus on our daily life
The function of using the above statement in writing report is:
a) Conclusion
b) Recommendation
c) Introduction
d) Reporting information
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Some robots will look and sound very like humans.

Simile Treatments and medicines will taste as delicious as real food.
dgdal)

We will be taking airships, which will be like aeroplanes.

The world will be at your fingertip.
Metaphor y gertip

3 ladiu) Life is a journey, and the possibilities for travel keep growing.

Everywhere we go we will hear the constant buzz and hum of

technology.

Onomatopoeia
4 gall 38aall | We might all be zooming around in ecologically-sound

electric buses and trams.

Our computers and mobile phones will take care of us, by

P telling us when to wake up, eat and sleep.
Personification & P P

Qasddal) Electric buses and trams that will take us to our destinations

smoothly.

The world will be at your fingertip.
The rhetorical device used in the above sentence is

a) Simile.

b) Metaphor.

c) Onomatopoeia.
d) Personification

Our computers and mobile phones will take care of us.
The rhetorical device used in the above sentence is

a) Simile.

b) Metaphor.

c) Onomatopoeia.
d) Personification
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The following advice about preparing for exams was given by our teacher. He should
know -as he has taken so many of them in his life!

He said, “it is not a good idea to study late at night! This is because your brain is tired
then, and it is unlikely to retain the information as well.

The best time to study is early in the morning. That is when you feel most awake.

fARIS (oS Jsaadl g

e The best time to study is early in the morning. That is when you feel most awake.
The language function for using that is:

a) Expressing continuation.

b) Simile.

c) Indicating consequences.
d) Linking paragraphs or ideas.
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In this way,

Therefore,

Consequently, Indicating Consequence

As a consequence,

As a result,

On the one hand,

On the other hand,

However, Indicating Opposition

Although

LS o3 e Y 6535 Aleall 2 o205 @
. Lights will go off automatically. In this way, / Therefore, / Consequently, / As a
consequence, As a result, we will save energy.

. On the one hand, life would be easier. On the other hand, we should have less
privacy.

. Driverless cars would make travelling simple. However, it they went wrong, they
could be very dangerous.
. Although the “Internet of things” sounds exciting, we should be careful.

:Jie Y1 el Al A5y Hlall iy o 4 @l B gl o2a e Jlsudls @
Although the “Internet of things” sounds exciting, we should be careful.
The language function for the underlined word is

a) Expressing continuation.
b) Indicating opposition.

c) Indicating consequences.
d) Reporting information.
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Using language that is similar to spoken English.
ASaall 4l Aall agiliie dal aadind
Using abbreviations instead of full forms. &l jlaia¥) aaa%us

| wish | hadn’t given up the piano.

Informal letters usually have idioms and phrasal verbs.
4,0l JledY) 5 clalbiadll 4l Jila ) axdci

| wasn’t put off by
Informal letters use active rather than passive verbs.

A Al ) apsmll e 2 Y ALK ¢ g ga dalaiall il jlgadl oda (e slgiV) 2xys @
Al

SAI) (g dall (pa Baa gy ) igaad) 30 28 LA g

. During that dicade, scientists in England developed the first computer program. It
took 25 minutes to complete one calculation.

- The_correct spelling of the underlined word in the above sentence is:

a. dacade
b. decade
c. dicede
d. dicide

. Choose the correct spelled word to complete the following sentence:
doesn’t need a keyboard.

. Labtob
. Laptop
. Laptap
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1. The King Hussein Cancer Center (KHCC) is Jordan’s only comprehensive cancer
treatment centre It treats both adult and pediatric patients.

a)? b) : c). d),

(2) Question mark J\ sl dads
ey Sy 38 Aleadl () 5S5 oh Ledle Joinsi s oJlipaw o8 ) Alaad) Ayl 3 RSl b3 a2
JomsS Wany ad gl Gijaldl @68 o g Loal 5 s palall e ALY 5008 i Y 5 2o e Jab il Hlgiiad

2. Do you mind telling me how | should draw up a timetable
a)? b) : ), d).
(1) Exclamation Mark i) dade |

TS Wany 281 gl el @98 of cuan Ly s Tag il dleall Al 8 Aadlal) 030 aladil iS4
5. Wow ___ This lady is very beautiful.

a)? b) : c). d)!

(,) Comma 4aldl) |
rdie dlagdl B ad) gall (pa SN B ALualdl) aadicdi g
ALGSAll yie 3 puadll Jaadl g dna ) Jalasl) g culalaadll oy
A jpall ye diall daa (8 daadll jilaa J8
Alaad) 4y 8 Jo il lal culS 13) Ak i) Aleall o al oy

.(Yes/No) 4alS axy
Los )y daiil) 5 i) e juad 5 Gl 35583l day )l <l 5305 (However) Jie cilalS sy
<y Y

.('small letter ) Aaldl) 32 | yia i 2l ¢ 54 g
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. Adeeb is going to visit the USA, France, the UK, Ireland, Belgium Italy and

Germany, where he will be staying with relatives.
a)? b) : c), d).
. However while he is in Germany, Adeeb will not be spending all his time
sightseeing.
a)? b) : c), d).
. If I studied hard for the exam____ | would pass the exam.
a)? b) : c), d).
. London, which is the capital of UK___is a huge city.
a)? b) : c), d).

i) Jantll Ji 5 ealic 530 (e Aall aail 225 ( 2 ) Colon Qs pl) clikidil) o

. He wanted to see three cities in Italy Rome, Florence and Venice

a)? b) : c), d).

b LS Jlad) 8 aanll 5 31 8Y) elad () S5 g

has V1 (s,es,ies)

have Vi

S AaY) JaaY

1. The number of healthcare services been increasing rapidly over the past
years.

a) have b) is c) has d) was

2. Anincreasing number of young people and adults overweight or even obese.

a) was b) is c) has d) are
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e Last months, the company opens many new projects in the nearby.
The correct form of the underlined verb in the above sentence is:
a) open
b) opens
c) opened
d) to open

s el Sy bl il 3 la e oS ol oy Al udlal) @l jran & san gl (5 i Lin g
7okl Al 3kl s sludy) Al @l jpaall s A Coglad S ASD S0 1A a5 CVERYT Jaa sl
(SIS Lde J)sad)

- Starts with greetings (Dear ....)

Writing persuasive letter

gL Al Ends with greetings (your sincerely

Sign off.

Writing descriptive essay Using simile.
ddua g Al8a Using language of prediction.

Writing blog post Short.
A g gt 45 gaa Auig Catchy title.
Concise and informative title.

Writing reports

) A Using subheadings.
o e

Using percentage and facts.

ek WS (055 a8 ¢ jaaall o2 e Vsl L Lgaladid (Sadll (e Al e
P i LT P
1. The topic which must have catchy title is:

a) persuasive letter c) blog post
b) descriptive essay d) reports

2. The topic which uses simile is:

a) persuasive letter c) blog post
b) descriptive essay d) reports
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3. The persuasive letter ends with:

a) recommendations ¢) opinion
b) sign off d) piece of advice

4. The topic which starts with greetings is:

a) persuasive letter c) blog post
b) descriptive essay d) reports

1Uladl) g mal) Abicd Y

Decide if the following sentences are true or false (T/F)

The descriptive essay uses simile. (
The blog post starts with greetings. ( )

The persuasive letter ends with your sign off. (

many ways to stop smoking.
b) have c)is d) has

. There are many things that should be done to organise your time
drawing up a timetable and taking regular breaks.

a)and b) or c) such as
. There are many ways to start revising for exams like abstracts.
a) make b) making c) makes d) to make

. There are many tips for studying long hours without getting tired such as prioritising
your schedule as well as regular breaks.

a) take b) to take c) takes d) taking

. There are many tips for studying long hours without getting tired such as prioritising
your schedule as well as taking regular breaks. ..o , you can study in
daylight and find a suitable place to study.

a) Also b) and c)or d) but




